


No [Size | aty| [No [Size | aty] [No |size | aty| [No |size | aty
1[850 x 80 x 21 mm 1 71850 x 80 x 21 mm 1| | 13[759 x 100 x 18 mm 1] | 19]722x348x2.2mm 1
2850 x 80 x 21 mm 1 8650 x 80 x 21 mm 1| [ 14]790 x 116 x 18 mm 1] | 20[337x60x 12 mm 1
3790 x 130 x 18 mm 1 9]850 x 80 x 21 mm 1| | 15]788 x 100 x 15 mm 1
41790 x 190 x 18 mm 1| [ 10]650 x 80 x 21 mm 1| | 16[350 x 60 x 12 mm 1
5]790 x 390 x 18 mm 1| [11]372x100x 15 mm 1| | 17[350x 60 x 12 mm 1
6]759 x 100 x 15 mm 1| | 12[372x 100 x 15 mm 1| | 18[711x60x 12 mm 1

20f12



| Hardware

A C [ x1|[D [ x 20
M 7 x 50 mm M7 x70 mm L4 @ 8 x 30 mm
E | x8||[F [x 12| G [x 14| [H [ x2
@ 10 x 50 mm @6 x 35 mm @ 15 mm (Big) @ 12 mm (Small)
| [ x1][J [ x4] [K [ x4] (L | x6
%/ («((((((( ~vrmm(9
350 mm § M 8 x 39 mm M 6.5 x 10.5 mm M 3.5 x 13 mm
M [ x2| [N [x 10| [O | x6/ ([P [ x2
= & a3 W
7 X 48 mm @ 10 mm (Small) @ 15 mm (Big) M 6.4 x 25 mm
Q | x2|[R | x4 |[s | x6||T [ x2
T .
ey - -
65x38x15x1.5mm M 3.5 x 15.5 mm @ 6 x30 mm
U [ x2
1(mmmmm(
M6 x 25 mm
. . . e e (Not
@ SET-UP TIME : 90 MINUTES @ NUMBER OF PERSONS : 02 TOOLS : & & Provided)

=. 0
%‘/” '-E
;_/

)
| x2|[s |

X 6

Wrr—rn

@6 x 35 mm

s

@ 6 x 30 mm

—-—{{—0
;ﬁ

= 3

-~ _m

30f12



@ 12 mm (Small)

M 8 x 39 mm

[ x1

F

350 mm

M3.5x13 mm

4 of 12



@ 10 x 50 mm

@ 8 x 30 mm

65 x38x15x 1.5 mm

M 3.5x15.5 mm

M 7 x50 mm

L4

The front is shaded

5o0f 12



| x6

@ 8 x 30 mm

@6 x 35 mm

P

@ 10 x 50 mm

6 of 12



| x4
K

(@

M 6.5 x 10.5 mm

30 mm @6 x 35 mm
P8x30m

1.'(((((”((({.‘((!({((!l((ll”(
‘\.(l(((l(l(({(!({((!({((l({(ﬂ[‘l‘ ==

| L4
M7 x70 mm

7 of 12



'y —
i

G [ x2

@ 15 mm (Big)

G [ x2

s

@ 15 mm (Big)

5

8 of 12



| x6

T

@ 15 mm (Big)

[ x1

M 7 x50 mm

L4

m.:(@
M 6.4 x 25 mm

9 of 12



C | P [ x1

=

M 7 x 50 mm L4 M 6.4 x25 mm

G | x4

T

@ 15 mm (Big) 7 X 48 mm

10 of 12



it
IHHA|
fhi
—-— \m-—--

2
!

d

|
e

o
[
—

«

@ 15 mm (Big)

[ x 10

&3

@ 10 mm (Small)

11 of 12



——_

__.:”I
T

\

_._.F‘.

. -l”
--—-

E-

-.((l(l((((m((l((

M6 x 25 mm

El
=i

12 of 12






